EECS2030 Advanced Object-Oriented Programming
(Fall 2021)

Q&A - Lecture 3

Thursday, October 21
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Sir, instead of using three different if-statements, could we use
one if-statement and use-else i For the second and third boolean conditions?

And putting the comparison and ’rype casting at the else block? YES
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public PointV2 (int x, inty) { ...
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assertEquals: Reference Comparison or Not

assertEquals(expl, exp2)

o ~|expl.equals(exp?2) |if expl and exp2 are reference type

Case 1: If equals is not explicitly overridden in exp1’s declared type /
~ assertSame(expl, exp2) /

[}
PointVl pl new PointV1 (3, 4); %tqZ%wV(

PointV1 p2 new PointV1(3, 4);
PointV2 p3 new PointV2(3, 4);
assertEquals (pl, p2);
assertEquals (p2, p3);

Case 2: If equals is explicitly overridden in(exp1'9declared type
~ expl.equals (exp?2)

&l_ = new PointV1(3,

assert(Equals -
assertEqual$ (p2, p3);
assertEquals (p3, p2);




